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Rechnen mit Variablen innerhalb von 1.000 Name:
Finde den Wert des Buchstaben. Antworten
1) B=582+335 B=
1.
2) 891=920-C C=
2.
3) 848=271+E E=
3.
4) F+81=934 F=
4.
5) 722-328=G G=
5.
6) 944+56=H H=
6.
7) J-969=27 J=
7.
8) 1.000-988=K K =
8.
9) 785-L =479 L=
9.
10) 146=M - 87 M =
10.
11) N =341+125 N =
11.
12) P+947 =980 P=
12.
13) 180+248=0Q Q=
13.
14) 895=R + 544 R=
14,
15) 922 + S=923 S=
15.
16) 608=638-T T=
16.
17) U =709 -552 U=
17.
18) 970-V =596 V=
18.
19) W =566 - 563 W =
19.
20) 777+Y =819 Y =
20.
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Rechnen mit Variablen innerhalb von 1.000

Name:

L dsungsschltissel

Finde den Wert des Buchstaben. Antworten
1) B=582+335 B= 917
_ 1 017
2) 891=920-C C= 29
2. 29
3) 848=271+E E= 577
E— 3 577
4) F+81=934 F= 853
—_— 4. 853
5) 722-328=G G= 3%
—_— 5, 394
6) 944+56=H H= 1.000
—_— 6. 1.000
7) J-969 =27 J= 996
—_— 7 996
8) 1.000- 988 =K K= 12
8 12
9) 785-L =479 L= 306
—_— 0. 306
10) 146=M - 87 M= 233
— 10. 233
11) N=341+125 N= 466
- 11. 466
12) P+ 947 =980 P= 33
12 33
13) 180+248=Q Q= 428
- 13. 428
14) 895=R+544 R= 351
— 14, 351
15) 922 +S=923 S= 1
15. 1
16) 608=638-T T= 30
16. 30
17) U=709-552 U= 157
=0 17, 157
18) 970-V =596 V= 374
18. 374
19) W =566 - 563 W = 3
19. 3
20) 777+Y =819 Y= 42
20. 42
1-10 195(90(85|80| 7570|6560 |55 |50
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Rechnen mit Variablen innerhalb von 1.000

Name:

Finde den Wert des Buchstaben.

Antworten

917
233
394

33
306
29

12
853
466

577

1.000

996

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

B =582+ 335

891=920-C

848=271+E

F+81=934

722-328=G

944 + 56 = H

J-969 =27

1.000-988 =K

785-L =479

146 =M - 87

N =341+ 125

P+ 947 =980

10.

11

12.
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